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0197631 |Pnigp A - 4 pOUL wnih 2500 110,0 44
2851100 Pnpuywiwul wpuquijup PLUL hwwn 100 5,0 50
9264100 | Rpuwywhwy Ynon Yuwkpny/nkghuwnp/ PoUL hwwn 1000 10,0 10
30197231 [Pppuwwbwl duy PLUL wnth 10 6,0 6
30197331 |nuljhs, pwuning PLUL untth 2500 2,5 1
22811170  [tonudlbph poigpe Yupsnil PLUL wuntth 250 155 6
30199421  |pninp, Wonudubph hwudwnp PLUL wntth 250 25 10
22800000 |[wupuwly, Uknwnju, thnpp PRUL wnuth 180 1,8 10
24911200 |Unuhtd kinyuhw POUL hwwn 450 2.7 6
39263310  |opwgnyg, uknuith PRUL hwn 900 0,9 1
24910000 |Unuhtd PLUL hwun 150 0,6 4
30192100  [(tkwnhl PLUL hwuwn 100 0.2 2
30192130 |[Uwunhwn PLUL hwun 100 1,0 10
30192122 |Sphs POUL hww 100 3,0 30
39263200  |qpuukbjuluyh ghpp PLUL hwwn 2200 6,6 3
39263200  [qpuukijulujht ghpp, yuwnjul, PLUL hwn 800 4,8 6
30192160  |Guphlu POUL hwn 250 15 6
30192111 |Snlkp <i-SENSYS_MF_4410> PLUL gpwa 4500 27,0 6
30192111 |Snukp <i SENSYS_MF_4018> PLUL gpwy 4500 27,0 6
30192111 |Snukp <HP Laserget P 1102W> PRUL gnwd 4000 4,0 1
30192160 |Qughs PLUL hwun 50 0,1 2
30192114  |pupahl Yihph POUL hwn 500 2,0 4
30192114 |pwhwp, svnnwudyh, pupdhlih PRUL hwn 250 1,5 6
30234620 |$1ko hhonnnipnibinkp, 4GB PLUL hwn 4200 4,0 1
30197110 |Uukn /unbuykp/ PLUL wntth 250 1.5 6
30141200 |hwohs ubpkin POUL huwtn 2800 2,8 1
39292500 |pwlnl, yjwuwnhl PRLEC hwn 250 1,2 6
30239160 [UPS EpuL hwuwn 18000 18,0 1
Spwbuwynpuwht ynipkp
9132200 ptGghl, REgnLjwp POUL lhun 450 600,0 1333
dbpLOwltph L npwbg 2wpdhsbtnh dwutp L i
34300000 wwnwgwbp PLUL 200000 200,0 1
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39221410 Uyl PRUL hwwn 1200
39831600 Unnwhwiths dwppnn hong/nuipupw/ PLUL hwwn 500
39812300 Juyly pLUL thup 200
30831240  |Uwwyh 1y htinmly PLUL hwwn 500
39800000  [Sunbuwlwl dknlingukp PLUL hwuwn 300
39831273 Zunwily Uwpphnt gnpdywdp PRUL hwun 800
39525800 thnoh Ywpphjnt gnpdywdp PLUL hwuwn 150
33761000 qniqupwlh pning PLUL hwtn 150
39831241 | odwr POUL huwin 350
39831242 1Jwgph thnoh, dknpny jubwnt hwdwp pLUL nnih 500 2,0 4
39831272 uwnibg, wiwl (qubwynt - PRUL hwwn 350 1,8 4
+133711900 Qtinph htnnily ofwn PLUL hwun 750 4,5 6
39837000 gwifuwyby £RUL hwn 800 8,0 10
39224332 ghujwuywwn nntjj PLUL hwun 1200 2,4 2
44521110 Al hwljuil PLUL hwwn 2300 13,8 6
31221280 Epupugdul jup SU PRLIL hwwn 3500 10.5 3
39720000 w/k wwply wnph PRUL hwwn 100 10,0 100
39224342 wnpupynbp, dbnwnju PLUL hwun 2000 240 1
39831210 uwwuph (Jwgdwl htnniy PLUL hwun 550 3.3 6
33141118 whatrnghlittn POUL hww 250 5,0 20
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shGwpwnniLpjwl 069 ogunwagnnéynn ki
44420000 wwnwbpltbn PLUL 60000 60,0 1
2hGwpuwinnLpjw dte Yhnwrynn
thwjwinhyttn, wrwbgpltn, hwn
44330000 dttnwnwiwnbp L wpndhyG6n PLUL 30000 30,0 1
gnpshpltn, thwywaatn, pwOwhlbn,
Ywriuhsbtin, wdpwglnn nGunwy btp, hwwn
44500000 npwibn L quwwbwybtn pRUL . 40000 40,0 il
ouNu3NkE31NLL
50110000 Ubkpkwiikph b vwppwynpnidubp inpngnud PLUL npwy 100000 100,0 1
72200000 Jupswlul Swruynipnil PLUL npwd 215000 215.0 1
72200000 Zudwlupgswiht Swpwjnipeinil pPLUL npwd 150000 150,0 1
72200000 Uniphunnpujwb swpwynipinil PLUL npwd 120000 120,0 1
72200000 Uwubwghnwlub Swpwjnipntl PLUL npwy 145000 145,0 1
64211120 $hpujwé hknwjunuwuy PLUL npwy 222000 2220 1
32412120 hinbpbbun Juy PLUL npwd 108000 108,0 1
65310000 Guq PLUL npwd 650000 650,0 1
65310000 5. Eubpghw PLUL npwd 450000 450,0 1
65111000 Ukt onip PLUL npwd 144000 144,0 1
85320000 nhpwunhqughw PLUL npwd 36000 36,0 1
66514100 Dunwjnquljul wyjnnd UNNU-h gnidwp PRUL npwy 40000 40,0 1
92410000 phpphph pudwinpyuignpniput pLUL npwy 125000 125,0 1
98390000 Swn.wwn.nku.quinud PLUL npwy 10000 10,0 1
qunid shwiiphuwgny dwhiu
99600000 woltmnwywpd b wupglunpnid ,anpdninnid X 14700,0 X
woluwnuilip
Jwps. okuph wnwtthph hhubwbnpngnid  ACUL nnwu 642000 | 6420 1
Qnuph dtnp phpnid
Sunuwbnulbkph dkHp phpnid nrub b
yunnihwih POUL npwd 98000 98,0 2
‘Lunwupubkp gpup PLUL npwd 600000 600,0 6
wnbkuwjughlukp PLUL npwy 200000 200,0 1
Snliwbwn PLUL npwa 100000 100,0 1
Uowlnyph wwl pulh tujuwdninph
wnqljuthwling npwad 400000 400,0 1




‘ Uowlnyph nwb hwdwp gniph dknp phpnud mp npwd 4000000 | 40000
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76131100 wupwhikph pnyjuynipnil POUL npwa 80000 80.0N\12 9/
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Je111200 | AmauPhmguuh wohunublpbtph guitip | mp npwd | 4000000 | 40000 1
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qanud shwlghuwgny durfuu
99600000 | » PLUL npwd 893000 893,0 1
_ Zwiuyiph wwpqhgjws gjluwinp
45000000 hunwlugsh jugunid e npwd 5500000 | 5500.0 1
71353200 Quthwgpuilju htwnwgnunnipniiitp DDU(Z npwy 1000000 | 1000,0 1
71354300 Yunuuwnpwiht pupunbqugpnid PLUL npwd 1000000 | 1000,0 1
~ qunud shwighuwgnn Swhuu
99600000 twhuwlul wewlgnipenih PLUL npwd 170000 170,0 1
90511100 uw dwppiult woiwnwiphibp PLUL npwd 996000 996,0 1
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30192700 ‘Lbkpltph gnudwp pPLUL npwd 450000
Ownujnipinth
Uhgngunnidtph dwnmguub
Swowmnipenil poUL npwy 750000
PLUL npwa 100000 100,0
30192700 ]kpbp qupng hwdwjunn kpkjuwibpht PLUL npwy 250000 250,0
Qunid shwinhuwgnn wj] uwpp

99600000 1l wowlgmpintlh dhol. nght PLUL npwd 100000 100,0

Ownwnipinil
92311110 winnnith dwn.swnwinipintl POUL- npwad 80000 80,0

Qumd shwinhuwgnn swu

99600000 Uy tyquunbitip piniethg 3000,0
99600000 Zniqupyuynpnipjul bywun X 500,0

Ownunipnil
39296000 Swnytyuwlitph qginud PRUL nnwy 150000 150,0
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71242000 lhmh}ulq Es tupuwhwohy Yuqubjnt qnidwp quf  PLRUL npwy 150000 150.0
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99000000 J/p wwhniuvwiht dnlny X 1036,5
99000000 $/p ywhniunwiht $nbiny X 173,6




